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B.Sc. (Third Year) (it1)
EXAMINATION, March/April 2022 gfeenfi FIT
Define Maximal and Minimal
MATH?I“ATICS Elements with example.
Paper-III-B (iv) "Rl AV) TH feraoits sieres © fa<d

abce L& (anb=anc)
dM(avb=ave)=b=c¢
Let (I, A, V) 1s adistributive Lattice

(Discrete Mathématics)
Time : Three Hours

Maximum Marks : 40 (For Regular Students)
Minimum Pass Marks : 33%

then fora,b,c e L (anb =a Ac)
and (avb=avce)=>b=c

Maximum Marks : 50 (For Private Students) R e
Minimum Pass Marks : 33% g fi?ﬂ?_{.l
Fe- ot W B S | T I 1 A Define walk and Path with example.
Attempt all questions. Question No. 1 (vi) i 1 HE B e afeq ufrenfed
is compulsory. Ffau )
1. R UE 9T g HIfIT Define degree of a vertex with
| Attempt any five parts : example.
() 9 TR &1 ¥ e (vii) & (qa;)aﬁqﬁﬂﬁﬁﬂﬁﬁmlu-ﬁﬂﬁﬁ%ﬁ
Write Boole’s Expansion theorem. wh g8 (1 - 1) FR @A 1
(i) eI T FI ST F%H.ml Define 'l‘réc. A tree with n-vertices
Explain equivalence relations with has (1 — 1) edges.
example. (viii) SF F&1 I THFTEL
P.T.O. Explain spanning tree.
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(ix) 3m9aA B:IIEEEI-?[HWI

s . | (Or)

Explain Incidence Matrix. ' e

_ : . gg=ad X T TR , RAg 5, 3
(x) = agamea G % fau sm= e ﬁmgmmﬁm%RmS%ﬁxm

T HIfY gﬁmﬁa@g@ﬁTﬁﬁH%l ‘

FFind the adjacency matrix of the If R and S are two equivalence relations

defined on a set X, then pmvé that R~ g
is also the equivalence relation on X,
ToT-I1 |
(Unit-1I)
3. (N, <) U et § el N Wigfas demnsit
ag=ad & Tl a, b € N & fou avifzu fis .
lub{a, glb(a, b)} = a
glb{a, lub(a, b)} = a -
el gy << R B e @ Fref
o 81 _

(N, <) .1s a lattice, where N is a set of

following multigraph :

(Unit-I) natural numbers for all a, b € N, show
2. Tfefea wom = s fageiE = s that :
LSS lub{a, glb(a, b)} = a
Change the following function into the and glb{a, lub(a, b)} = a
disjunctive normal form : here ‘“<” represents the relation “Less

Flx,y,2) = (x +¥) - (x +27) + (v +2) - than or equal to”.

P.T.O0.
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4.

(Or)

S, T st wpea ¥ 3l P(S), sg=ag

S T Y= ¥ (giq P(S), S & |t 39
== F A= ¢, 9@ wa e
P(S) W 3vm: w1 vy ¥y

Let S be a non-empty set and P(S) is a
power set of S. (1.e. P(S)is all the subsets
of 8), then the relation inclusion ‘c’ is a
partial order relation on P(8).

-1l
(Unit-IIT) _
TR 5 72 i ied O o T o s

st () HY Heww e n("z_l) A ¥

The maximum number of edges in a
n(n—1)
>

simple graph with n vertices is

3qal
(Or) |
TIERL Tiied sl faar § TS

Explain in detail Dyjkstra’s Algorithm.

'
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2.

(3) Lo

(ix) 3MTT HEE B THEAEC
Explain Incidence Matrix.

(x) f e G @ forg e A
T BT :
Find the adjacency matrix of the
following multigraph :

- /.\’FZ T —

) xm\
T~
N
A E ;

v, e,
Fas-1
(Unit-I)

Frefeiferd wer =1 sua faeoria g =y
H wget

Change the following function into the
disjunctive normal form :

Fl,y,2) = (x+y) (x +2') + (y + 2"

P.T.0.
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(7) Z-7
AT |
(Or)
et e & fere maem e aqrey .
El
aﬁﬁm : |
Find the incidence and adjancency may;
of the following graph : -
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